AT

Spal Blower Specifications:
High-output blower assembly, 450 CFM @ 13.5 VDC, 10 amp draw. 3-speed
blower resistor included.

=
(U

Case:
Heavy duty vacuum formed ABS.

A/C Connections:
#12 MIO male fitting and #10 female O-ring nut into expansion value with #6 male O-ring connection.

Heater Hose Connections:
2 x5/8”

Air Ducts:
4 x 2-1/2” outlets.

Coll:
Copper tube and fin combination cool and heat, 20,000 BTU cool/ 22,000 BTU heat.

PARTS LIST: Notes:
PART NUMBER | DESCRIPTION PART NUMBER | DESCRIPTION Quantity Includes wiring harness, expansion valve and mounting brackets.
ACPLA001B Max Air 1 Case Bottom 1 ACHDWOO02R Tape, cork 1ft. DRAWN
ACPLA0O1T Max Air 1 Case Top 1 ACCOI008 AC Heat Coil 1 John Matlack 3/15/2017 Infinite Innovations
ACPLAOO1TH Max Air 1 Hose Outlet 1 ACHDWO008 O-ring #8 Green 1 CHECKED
ACMTROO01 Spal Dual Blower 1 AC1007 Expansion Valve 1 TITLE
ACBKT014 Max Air 1 Side Anchor 2 ACFIT002 Expansion Valve screen 1 QA .
ACBKTO15 | Max Air 1 Side Bracket 2 ACHDWO020 | Bolt 1/4 20 V2 4 Max Air 1
ACBKTO016 Max Air 1 Motor Plate 2 ACUNIOOTLAB | Max Air 1 Label 1 MATERIAL
ACHDW025 Drain Tube 2 ACHDWO18 Screw, #8 X 1/2" PPH BLK 13 Part #ACUNIOO01
ACFOA012 Foam Kit 1 ACHDWO019 Screw, #8 X 5/8" PPH BLK 8 APPROVED
ACFOAO011 Foam, Spal 39 Blower gasket 2 ACHDWO021 Pop rivet 5/32" 6 SIZE DWG NO REV
ACFOA003 #7 PVC foam 1/8" x 1/2" 4 ACWIR003 Blower resistor harness 1 TOLERANCE C MA1-1
SCALE SHEET 1_OF 1
4 3 i} 2 I 1




